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B HAE 255 fn® 13 12. 6 f#pm2
55 USRI m 14 13.74 m
27 J—1h |ock=18N/mm2 m 4 4. 40 m3
TR — R m’ 46 46. 3 m2
73311} SD345, D13 t 0.3 0.3t
#Lar sz )—1|ock=18N/mm2 m’ 1 0. 96 m3
Ry B m’ 3 2.8 m2
FERERS RC-40, t=150 m’ 10 9.6 m2




% = . 5 # (No.5)
AN 4
(]1:/%\%/)17) ( 13:/\“/?2) ($ %N/l/}%gj) (ﬂ& E&/l/}%f) (%/E&/lj?) AL 2t L f
PEKEEY T (ST /KE T
815 URI K m 10 9.61m
27 J—1h |ock=18N/mm2 m 14 14. 22 m3
TR — R e m’ 40 41.5 m2
H s t=10mm m’ 1 1.4 m2
B HAE 255 fn® 17 16. 9 f#m2
825 UBRI /K % m 81 81.28 m
27 J—1h |ock=18N/mm2 m 158 157. 69 m3
TR — R m’ 140 144. 8 m2
H s t=10mm m’ 16 15. 8 m2
B HAE 255 fn® 80 79. 8 Him2
95 UBK % m 3 2.80 m
27 J—1b |ock=24N/mm2 m 1 1.18 m3
TR — R m’ 13 13.1 m2
73311} SD345, D13 t 0. 06 0.06 t
KPR Z2m3 4 4.1 ZEm3




4 = s fih #  (No. 6)

AN 4
(]1:/%\%/)17) ( 13:/\“/?2) ($ %N/l/}%gj) (ﬂ& E&/l/}%f) (%/E&/lj?) AL 2t L f =
Pk T
BT
1 5B ¢ 400, Coa 17 m 12 11.97 m¥HAEEIIGHRES T
ROk
15K %% 1 [EASRETR R ES R 0. 275m3/ k&
OEEE K p H 1 N N 0.422m3/%&
S ALK i 1 I I 0. 352m3/ &
9-E-£E A pk H 1 N N 0. 395m3/%&
10522 7Kt I 1 I I 0. 224m3/ 3t
KiIDEE S T-25  500%500 A 3
P T-25 6004600 | 1
By T
FEA IS5 AT 1
15— KL=V |orcap m 195 195.20 m
25— KL=/ |or—c_9p m 28 27.59 m
H— KA m 77 76.59 m
W — RoSA 7 EHfE m 11 10.91 m¥HAEEITFHRES R




% = . 5 #z (No.T)
AN 4
(]1:/%\%/)17) ( 13:/\“/?2) ($ %N/l/}%gj) (ﬂ& E&/l/}%f) (%/E&/lj?) AL 2t L f
Bk E T
B iE L
PRBR T m 3 2.80 m
a7 U —hk | ock=24N/mm2 n’ 1 0.76 m3
Tl e — i P m’ 5 4.9 m2
7S] SD345, D13 t 0. 04 0.04 t
AR L 22m3 8 8.3 Z%m3
a7 ) — MR EEE m’ 18 17.6 m2
27 U—hk |ock=18N/mm2 n’ 1 1. 23 m3
BAMRA RC-40 m’ 18 17.6 m2
MR L+ e+ m’ 26 26.3 m3
HEYEUE T
&Y U T
ay 7 ) — U m’ 63 63.0 m3
AsEHEERREUE L |t=50 m’ 720 724. 4 m2
AsEHEERR Gk t=50 m 12 11.6m
Comt LB AT m’ 63 63.0 m3
AsiALER m’ 36 36. 2 m3
&L T
Co% M ¥ 88 88




£ B B & #  (No. 8)
VAN 7
(]1:/%\%/]17) ( 1}/\“/?2) ($ %&/lﬂj) (ﬂ& EN‘ /u}%lj) (%E@& /jf) B % &
{ax T
AL BT
A EERE (A N 37
7R 27 T A

REFEEHE (B ANH 22




2 el s
IE FERI e T8 f REt#=E N w=E
FA+
gt 20 20 20
T 0.9 20 20 20
L/ E=
RiEE T 20 20 20
T 0.9 20 20 20
L/ E=
WEL
AikEE+
) sl 9,710 9,710
T
/&= 1.15 9,710 8, 440 9,710
L
Rx 8, 400 8, 400
T 0.9 0 -40 0 - 40
/&= 1.15 8, 400 8, 440 8,440 - 0




RHER L &R

P 2R W=
&R T8 f
N c N c
40 40 20
E+T 8 | 09 40 40 20
HET WELT
HEAKT
RiEY | £ ® 40
HREL 20
i 10 20 20+0=20 (3£ 1)
i 10 20 40-20=20
o 0 0 0-0=0




i Bl ERKT
=R/

E T R

X Sa
ISR T EN S,
(A=)
T+ 22.0 m3
| EREERREELD = 22.0
RS+
B<2.5 34.6 m3
B4 T I = 34.6
2.5=<B<4.0 —  m3
4.0=B 1,793.0 m3
waEl  HRERTEELY = 1658.5
B4 T I = 134.5
AR+
B<2.5 363.2 m3
| EREERREELD = 306.4
B4 T I = 56.8
2.5=<B<4.0 369.4 m3
| EREERFREELD = 299.5
B4 T I = 69.9
4.0=B 7,023.6 m3
| EREERREELD = 6,754.7
B4 T I = 268.9
8 k-
B<2.5 91.6 m3
| EREERREELD = 87.0
B4 T I = 4.6
JEAT TR+
B<2.5 M fH R A E LY 29.7 m3
4.0=B " 52.6 m3
EHER ()
e ezl 1,524.7 m2
R 692.3 + 648. 3 = 1,340.6
B4 T = 129.1
farbg | AR LY = 55.0




HEfTiTE+ st RE
i B EE T
A=E /A
X Sal
TR Bk = BN S
M TR+
B<2.5 29.7 m3
No. 154 14. 89~No. 16+ 2. 92 (2[5 s5iNo. 254 10. 90~No. 26+ 8. 66)
(0. 7340.99) X 17. 29m = 29.74
4.0=B No. 15+14. 89~No. 16+ 2. 92 (K2 A siNo. 25-+10. 90~No. 26+8. 66)
3.04X17.29m 52.56 m3
EEER (L)
55.0 m2
No. 154 14. 89~No. 16+ 2. 92 (2[5 s5iNo. 25410. 90~No. 26+ 8. 66)
3. 18X 17. 29m = 54.98
* m|m
Wr m

EXBHHERGE TP 455 In

EESHEBAL TP 455 1n gl

BrRAHEBERHE TP +54.8 a2
BAREBEAVS o L

BEHEAL TP 45020 gl

J




EEET
HRH
Ao R R T &%
(m) W m F 1 £
No. 16 — 0.0 — —
No. 17 20. 000 1.1 0.55 11.0
No. 18 20. 000 0.0 0.55 11.0
A = m m3 m3 m3
5] A
40. 000 22.0 0.0 0.0




BRI

BREREE T BREREE T BREREE T
Bom R R R B<25 25=B<40 40=B & &
(m) Wr m Y £ Wr m Y #q = Wr m Y #q =
No. 0 + 37.400 6.5
No. 10 36. 880 7.5 7.00 258. 2
No. 10 + 14.980 | 14.980 7.5 7.50 112.4 No. 107t H
No. 10 + 14.980 — 5.2 — — No. 119t H
No. 11 5. 020 5.2 5. 20 26. 1
No. 12 20. 000 5.7 5.45 109. 0
No. 12 + 3.480 3. 480 5.7 5.70 19.8 No. 12t
No. 12 + 3.480 — 6.6 — — No. 13t H
No. 13 16. 520 6.6 6. 60 109. 0
No. 14 20. 000 7.0 6. 80 136.0
No. 15 20. 000 6.7 6.85 137.0
No. 16 20. 000 8.8 7.75 155. 0
No. 17 20. 000 8.7 8.75 175.0
No. 18 20. 000 8.7 8. 70 174.0
No. 19 20. 000 8.0 8.35 167.0
No. 20 20. 000 0.0 4. 00 80.0
No. 21 20. 000 0.0 0. 00 0.0
A = m m3
&
256. 880 1,658.5




BRI

BRIREEL BRI L BRIREE L
Bom R R R B<25 25=B<40 40=B & &
(m) W m o #E W m o #HE W m o #HE

No. 0 + 37.400 1.5 0.0 15.8
No. 10 36. 880 1.6 1.55 57.2 0.0 0. 00 0.0 47.3 31.55  1163.6
No. 11 20. 000 0.3 0. 95 19.0 0.0 0. 00 0.0 16. 4 31.85 637.0
No. 12 20. 000 0.5 0. 40 8.0 0.0 0. 00 0.0 19.5 17. 95 359. 0
No. 13 20. 000 0.6 0. 55 11.0 1.5 0.75 15.0 24. 2 21.85 437.0
No. 14 20. 000 1.1 0. 85 17.0 1.9 1.70 34.0 31.6 27. 90 558. 0
No. 15 20. 000 0.8 0. 95 19.0 4.8 3.35 67. 0 54.9 43.25 865. 0
No. 15 + 15.630 | 15.630 0.8 0. 80 12.5 4.8 4. 80 75.0 54.9 54. 90 858. 1 No. 15t H
No. 15 + 18.640 3.010 3.9 2.35 7.1 4.7 4.75 14.3 18.7 36. 80 110. 8 No. 167t H
No. 16 1. 360 3.9 3.90 5.3 4.7 4.70 6.4 18.7 18.70 25.4
No. 16 + 2.760 2. 760 3.9 3.90 10.8 4.7 4.70 13.0 18.7 18.70 51.6 No. 167t H
No. 16 + 16.630 | 13.870 1.6 2.75 38.1 0.5 2. 60 36. 1 50. 8 34.75 482. 0 No. 17t H
No. 17 3.370 1.6 1. 60 5.4 0.5 0. 50 1.7 50. 8 50. 80 171.2
No. 18 20. 000 1.1 1.35 27.0 0.0 0. 25 5.0 24. 0 37. 40 748.0
No. 19 20. 000 1.4 1.25 25. 0 0.1 0. 05 1.0 2.4 13. 20 264. 0
No. 20 20. 000 1.5 1. 45 29. 0 1.5 0. 80 16.0 0.0 1.20 24.0
No. 21 20. 000 0.0 0.75 15.0 0.0 0.75 15.0 0.0 0. 00 0.0

A = m m3 m3 m3

a G

256. 880 306. 4 299. 5 6, 754. 7




BRI

RE®L
B = R R R B<25 & &
(m) Wr m Y #q =

No. 0 + 37.400 0.1
No. 10 36. 880 0.5 0. 30 11. 1
No. 10 + 14.980 | 14.980 0.5 0. 50 7.5 No. 107t H
No. 10 + 14.980 — 0.6 — — No. 119t H
No. 11 5. 020 0.6 0. 60 3.0
No. 12 20. 000 0.8 0. 70 14. 0
No. 12 + 3.480 3. 480 0.8 0. 80 2.8 No. 12t
No. 12 + 3.480 — 0.4 — — No. 13t H
No. 13 16. 520 0.4 0. 40 6.6
No. 14 20. 000 0.5 0.45 9.0
No. 15 20. 000 0.2 0.35 7.0
No. 16 20. 000 0.3 0.25 5.0
No. 17 20. 000 0.3 0. 30 6.0
No. 18 20. 000 0.3 0. 30 6.0
No. 19 20. 000 0.3 0. 30 6.0
No. 20 20. 000 0.0 0.15 3.0
No. 21 20. 000 0.0 0. 00 0.0

A = m m3

&

256. 880 87.0




BRI

EEER (ELE)
A = Rl ekt w5 &
(m) Wr m Y #q =
(Z41)
No. 10 9.5
No. 10 + 14.980 | 14.980 0.0 4.75 71.2
No. 12 + 3.480 — 0.0 — —
No. 13 16. 520 1.6 0. 80 13.2
No. 14 20. 000 3.0 2.30 46.0
No. 15 20. 000 5.5 4.25 85.0
No. 15 + 15.630 | 15.630 5.5 5. 50 86. 0 No. 15t H
No. 15 + 18.640 3.010 2.7 4. 10 12.3 No. 167t H
No. 16 1. 360 2.7 2.70 3.7
No. 16 + 2.760 2. 760 2.7 2.70 7.5 No. 167t H
No. 16 + 16.630 | 13.870 9.0 5. 85 81. 1 No. 17t H
No. 17 3. 370 9.0 9. 00 30.3
No. 18 20. 000 5.8 7.40 148.0
No. 19 20. 000 2.5 4.15 83.0
No. 20 20. 000 0.0 1.25 25.0
No. 21 20. 000 0.0 0. 00 0.0
A = m2
& 3
191. 500 692. 3




BRI

EEER (ELE)
A = Rl ekt w5 &
(m) Wr m Y #E
(A
No. 14 + 4.100 — 1.5 — — No. 155t/
No. 15 15. 900 1.5 1. 50 23.9
No. 15 + 10.390 | 10.390 11.8 6. 65 69. 1 No. 167t H
No. 16 9.610 11.8 11.80 113.4
No. 16 + 16.630 | 16.630 8.2 10. 00 166. 3 No. 17t H
No. 17 3. 370 8.2 8. 20 27.6
No. 18 20. 000 5.8 7.00 140. 0
No. 19 20. 000 2.5 4.15 83.0
No. 20 20. 000 0.0 1.25 25.0
3| 115,900 648. 3
AN = m2
&
115. 900 648.3




ERL T <IRAER>

BRPREE L BRPREE L BRPREE L
B A AR e R B<25 25=B<40 40=B & &
(m) Wr m o = W m o #HE W m o #HE
No. 0 — 0.0 — — 0.0 — —
No. 0 + 10.000 | 10.000 2.5 1.25 12.5 0.0 0. 00 0.0
No. 0 + 27.640 | 17.640 0.0 1.25 22.1 7.5 3.75 66. 2
No. 0 + 37.400 9. 760 0.0 0. 00 0.0 6.5 7.00 68. 3
A = m3 m3
a G
37. 400 34. 6 134.5




ERL T <IRAER>

BRI L BRI L BRI L
Bom R R R B<25 25=<B<4.0 40=B & &
(m) W m o = W m o #HE ¥ M T 1y nE
No. 0 — 0.0 — — 0.0 — — 0.0 — —
No. 0 + 10.000 | 10.000 1.1 0. 55 5.5 0.0 0. 00 0.0 0.0 0. 00 0.0
No. 0 + 27.640 | 17.640 2.5 1. 80 31.8 5.1 2.55 45.0 14.0 7.00 123.5
No. 0 + 37.400 9. 760 1.5 2. 00 19.5 0.0 2.55 24.9 15.8 14. 90 145. 4
A = m m3 m3 m3
a G
37. 400 56. 8 69.9 268. 9




ERL T <IRAER>

BMERL
b R R R B<25 &%
(m) ¥ @ Ty =
No. 0 — 0.0 — —
No. 0 + 10.000 10. 000 0.2 0.10 1.0
No. 0 + 27.640 17. 640 0.1 0.15 2.6
No. 0 + 37.400 9. 760 0.1 0.10 1.0
PN = m m3
& i
37. 400 4.6




ERL T <IRAER>

EEER (ERLE)
o R ot iakict & &
(m) W m T 1y ® B8
No. 0 — 0.0 — —
No. 0 + 10.000 10. 000 2.9 1.45 14.5
No. 0 + 27.640 17. 640 6.5 4.70 82.9
No. 0 + 37.400 9. 760 0.0 3. 25 31.7
N = m m2
=) A
37.400 129. 1




AL G

BE B EE T
Juay 7o
X Ca
FBI AR L X " &
PHEL L — b 965.4 m2
BT RILEmEEHE EARELEHERS) XV 777. 4
No. I5FfHiE i 188
500 5000 500
600 2000 2000 500
500%
%%?L = — = 300
00 500 ] - (E%EEE%?:)
\<‘/ L8 % 5 4NAT#F VTS
) 1 =, (BikmET)
00% 1 | 2.000
= in /T hs ! '
‘ ji BEEME
692.3 m2

BT EEEEREEEE (EMELEEERS) KD




WTRBERHE SRR

H30ZR+ FRE)Il - S TRHBIRES - A& SEIRRE LB Q) —REBEMEMRE RELY
£ Eo1 p3 I - M HEX 7D BASL 270wy | 37awvwsy | 4Javs 67aovs
avsy—+ o ck=24N/mm’ BB m 17.7 23.9 24.0 32.0
E R " 16.0 16.6 16.3 28.6
& i " 33.7 40.5 40. 3 60. 6
HBERA — X X X X
HLarvoy—+r — X X X X
BETIDEE - —RELE —RELE —RELE —RELE
EXEEEREHX S — EREL EREL EREL EREL
% B D29 ~ D32 t — — — —
(SD345) D16 ~ D25 " 3. 211 3.898 3.818 4.758
D13 " 0.519 0.578 0.573 0. 849
& it " 3.730 4.476 4. 391 5. 607
KRz /A T VP ¢ 65, L=0. 4 4.4 6.0 6.0 8.0
EEHEKH W=0. 2 18. 31 22.34 22.36 28. 66
% #h ] T SERS | B §7ovy | 970wy & &t
arvyy—+kr o ck=24N /mm* BX EE m° 28.9 25.2 215.9
E R " 20.7 20.7 168.3
& i " 49.6 45.9 384.2
HEERR - X X
ByLarvosy—+F — X X
BEETDESE — —RELE —RELE
EXEEEREHX S — EREL EREL
% D29 ~ D32 t - - 0. 000
(SD345) D16 ~ D25 " 3.725 3. 447 33. 547
D13 " 0.739 0.703 5.739
& it " 4.464 4.150 39. 286
KRz /A T VP ¢ 65, L=0. 4 6.4 5.6 51.2
EEHEKH W=0. 2 26. 29 26. 62 204. 73




—xEt R E

& Wi T HERE
Tuayr 1 7ayr

X 4y ¢ 3m=H=10m
TH30HR £ BRE)I - ALH T I ARE - Fofs TEMKERAEEER (2) —MRAEiEasMatat) U LY
ARl RS T 7 o =
a7 y—Fhk
(BXRE) (Ri )
o ck=24N/mm2 al=1/2X (3. 867+1. 400) X 9. 084=23. 92
(5 )
a2=1/2 X (3. 867+1. 430) X 8.974=23. 77
V=1/2X (23.92+23. 77) X 0. 40=9. 54
9.5 m3
ar7Y—h
(ERR) V=1/2X (9. 248+8. 289) X 3. 50X 0. 40=12. 28
o ck=24N/mm2
12.3 m3
FEREEA
X
HBLarrzy—+h
X
#E T O
— A
258 SR PR
X5
JER L
EZNi]
P EEFR LY
SD345 (D29~D32)
— t
EZNi]
P EEF LY
SD345 (D16~D25) (D16) W1= 679kg
(D22) W2=1420kg
S W1~W2=679+1420=2099kg 2.099 t
EZNi]
P EEFR LY
SD345 (D13) (D13) W=434kg
0.434 t
K RA T
5 fEPT
VP ¢ 65, L=0. 4 2.0 m
HimHERES
W=200 0.397+1. 429+1. 428+1. 429+1. 428+1. 109+1. 883+1. 063+0. 244 10.410 m
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2 . = %
s 8974
ol © \« Q084
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Tuayr 1 7ayr

X 4y 1 3m=H=10m
.
EXEER
(1-1)
8974
) v53.767
b
s 8
g
~ Vv51.330
o
Q| o
=g
V49.900
s B
< V49.500 <
o
S 8
HEBBR g
i EEQ 7 —FDo%%
v 46. 800 o |
1500 7384
He
B 1
(2-2)
9084
8974 10
Vv53.767
Vv51.330
5
5 8
§
Vv51. 300
o
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v49.900 I Vv 49. 900
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S
8 °
= REBER g
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1500 $ 7494




B TECHERE
Tuay s 17y

X 4y ¢ 3m=H=10m
V53. 767
avyy—+t
o ck=24N/mm2
g
- 38 150 700 1500
=8 EERBRE
IE =
H S v50.811
o B OKBHE 3500 300
o - 600 1400 2500
% e V49. 900
CINE= V49, 500
g 5,55 :
= L
~ avy)—+F = —
e o ck=18N/mm2 5 S {iE
jul - °, ¥ |m
o S © |~
m 8 by 6246 \__ S
& I5 5.50 s
H gy Jb w e 9 849
S g Y
~ w N

2000 5 3500 50 959

V51.330
156 726 1555
(150) (700)[  (1500)
avyy—+t
§ — VL?' 300 o ck=24N/mm2
Eﬁ S, v50.835 4 3629 311
w| o 8 kB&= 622 415 2592
I
o = v49. 900
& 8 | i
Y i i 576 11149500 AL
- avyy—+k B
< o ck=18N/mm e o fal
i & 5 | ¥
1ol N <> = &
o W Bk o
.y S /g =
K < 6.88 A o~
570 (6.88) & —— 8 e
&£ S = S ﬂ
£ 4 2.0 = = 8 {“{
S~ 2 S |y
S - o) i
a6 000/ | || I s
2074 15 3629 156 1177
EmES s — (2000) (150) (3500) (150) (1135)

0 cK= T8Nmm
A=0. 09m2




—xEt R E

& Wi T HERE
Tayr 27uavr

X 4y ¢ 3m=H=10m
TH30HR £ BRE)I - ALH T I ARE - Fofs TEMKERAEEER (2) —MRAEiEasMatat) U LY
ARl RS T 7 o =
a7 y—Fhk
(BXRE) (Ri )
o ck=24N/mm2 al=1/2Xx (5. 198+2. 767) X 8. 787=34. 99
(5 )
a2=1/2 % (5. 242+2. 767) X 8. 946=35. 82
V=1/2X% (34.99+35. 82) X 0. 50=17. 70
17.7 m3
ar7Y—h
(ERR) V=1/2X (8. 596+9. 710) X 3. 50X 0. 50=16. 02
o ck=24N/mm2
16.0 m3
FEREEA
X
HBLarrzy—+h
X
#E T O
— A
258 SR PR
X5
JER L
EZNi]
P EEFR LY
SD345 (D29~D32)
— t
EZNi]
P EEF LY
SD345 (D16~D25) (D16) W1= 856kg
(D25) W2=2355kg
> W1~W2=856+2355=3211kg 3.211 t
EZNi]
P EEFR LY
SD345 (D13) (D13) W=519kg
0.519 t
K RA T
11 &
VP ¢ 65, L=0. 4 4.4 m
HimHERES
W=200 1. 397+1. 428+1. 428+1. 428+1. 428+1. 403+4. 098+3. 265+2. 431 18.306 m
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